[ Efficiency vs vertpos |
0.2

N
1

iy
1 v Ll -

1072 107 1 10 10?

—— DQM _CKF
—— DQM_mkFit

o DQM BDT_CKF
[Efficiend —— BOM BoTmkkit

02— : : : :
S e e
e R
S e
042
e
11T R S 1|
0.06F -+ It } -----
0.04f} -+ -
0.028% {L4H-L LT
ok

[ Efficiency vs. sim PV z |

0.0 : : : : : :
e 8 T
e
0 S 8 8 U
0.06E bbb b
0.05F
0.04F

003t J gy i
0.02F-----+- - 4fT1 Tk AFhebE P 13
E : E Rt PR T iy A :

001:_ TT ...é....'..:...'....E....'|:'.:]'.'..,.,<F .....
|

N S T N O TP R T T A A

Lo T 1 T
e G
S AL I

1l ]
I: |
0.5/

: At 1 : : ]
=20 -15 -10 -5 O 5 10 15 20




	Contents
	Page 1


